NAME: Quiz #9:
Phys142
Sotutioy

A current of 0.5 A charges a parallel plate capacitor whose plates are circular with a
radius of a=10.0 cm and whose plate separation is 1.0 mm. Recall that the capacitance

of a parallel plate oapaoitor is C= 59144~ , and capacitance is generally defined as
.

C= % The diagram is shown below where the wires connected to the capacitor are

assumed to be infinitely Iong and stralght
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(a) [6 pts] What is the rate of ohange of the electric field as a function of time between
the plates?
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(b) [3 pts] What is the dweoﬂon of the ﬂeld at point P1 and P27 Draw your answer on

the diagram. on FW
(c) [2 pts] Is the B-field at point P2 changing in time? Explaln .
No B ia comsfant  becatse B w0 to WW
curvant (€. 9E) , which w dependad o Wwﬂwm y
rdwch U constant




